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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forG3-1_0
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BriE) | GEBAK @) | ERE(EH/R | EREE (F/R) [ XS R

07:45 95 80.0 17.28 5| {Ri%e07:45 Bz (RAMERSE)
08:20 95 80.0 17.28 = {RRiB008:20 B (FRFAEEE)
09:05 95 80.0 17.28 | =| 1Ri%@09:05 Bz (kABHEREEE)
09:50 95 80.0 17.28 | =| 1Ri%@09:50 Bzh (KRAHEEE)
10:25 95 80.0 17.28 | =| 1Ri%e10:25 Bz (kAEREE)
11:00 95 80.0 17.28 | =| 1Ri%e11:00 Bz (GRBEREE)
11:35 95 80.0 17.28 (2 =| 1Bige11:35 Bzh (REERESE)
12:15 95 80.0 17.28 (2 =| 1BRige@12:15 Bzh (REERESE)
12:50 95 80.0 17.28 | =| 1Ri%e12:50 Bz (kAEREE)
13:25 95 80.0 17.28 =l {Rige13:25 B3 (REAEDSE)
13:55 95 80.0 17.28 F BRige13:55 Bz (GRAERE)
14:25 95 80.0 17.28 =l RiB014:25 B (REAKEE)
14:55 95 80.0 17.28 = RRiB014:55 Bz (REAEESE)
15:25 95 80.0 17.28 F BRige15:25 Bz (GRAERSE)
16:05 95 80.0 17.28 |2 =| {Ri%e16:05 Bz (RAEESE)
17:00 95 80.0 17.28 FA| 1B2i%@17:00 B3h (RABIERSE)
2it]1520.0 (167%) 1280.0 32 03KEC: 1800.0, PH: 6.2

EORGERIREL RN (0.57 vs 0.63), AIREE S AEESEEEESKERE
RGBT R LSRRI (95 vs 129.0))

BRIASERRIERES9. 0 ml.

FERZERPH (10.28) 5i&5EPH (6.0) REK K, BHAT

FEREIPH (10.28) 5FMPH (6.5 REKK, AT

BE X i# B R ECEL B Hh k.

HEEIRECE (1947.0 vs 3498.0) 15

RER BT HEREC/PHIE B K, AT RERNIHRELR SR

LORGEBIPH (10.4) 5i18EE (6.0) BERKK, BFRE.

LORGEBIPH (10.4) S5#AEN (6.2) RERKK, BRE.
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G3-1

BYiE) | GEBIATK () | EHME (EH/&) | EBRERE (/R | XK R

07:25 67 80.0 17.28 = {RRiB007:25 B (RFAKEE)
08:05 67 80.0 17.28 E  1BRi&e08:05 Bzl (RAEREE)
09:00 67 80.0 17.28 5| {Ri%@09:00 B3 (FAAERSE)
09:50 67 80.0 17.28 = {BRiB009:50 B (RFAEEE)
10:35 67 80.0 17.28 5| {Ri%@10:35 B3 (RAERSE)
11:15 67 80.0 17.28 =l Rige11:15 Bz (GREAEESE)
12:00 67 80.0 17.28 =l {Rige12:00 B3 (RAERSE)
12:50 67 80.0 17.28 S {Rige12:50 B3 (RAERSE)
13:25 67 80.0 17. 28 E| {Rige13:25 Bah (RE{ERSE)
14:00 67 80.0 17.28 E[ BRige14:00 Bz CGRAERSE)
14:40 67 80.0 17.28 S| {Rig014:40 B3 (RAERSE)
15:15 67 80.0 17. 28 E BRige15:15 Bz CGRAERESE)
15:55 67 80.0 17.28 F BRige15:55 Ba1 (GRAERSE)
16:45 67 80.0 17.28 = {Rig016:45 B3 (REAERSE)
211 938.0 (14%) 1120.0 32 HKEC: 1800.0, PH: 6.1

EYGEBERE RN (0.48 vs 0.64), ATALA % MRS IEE ESKETR R
MERARHEBME STHEART (32.0 : 41.0), AlREKRBERE
ERGEBR AT CRIRIEBLZ I (67 vs 131.0))

ERIASSPRIERE41.0 ml.

REXRSEPH (10.29) 5iTEPH (6.0) RERK, 1HRE
RERSEBPH (10.29) 5FMPH (6.5) BEK L, BFHRE

RE K i3 B RECEIHE BRK.

[Bl/REC 3956.0 K&, i FARECAR&IRIEER

HEERECE (1987.0 vs 3956.0) IS5

RER ML HEREC/PHIEER K, AT RERIMIRELR R

EXGEBIPH (10.2) 5i&EE (6.0) REKK, BRE.
EREBPH (10.2) S5REGEWY (6. 1) RERK, FRE.
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G3-1

BYiE) | GEBATE (7)) | ERE (EH/f) | ERERE (/R | XS R

07:35 68 80.0 17.28 | =| 1Ri%e07:35 Bz (kAEREEE)
08:20 68 80.0 17.28 = {RRi8008:20 Bzh (RAEEE)
09:25 68 80.0 17.28 | =| 1Ri%e09:25 B (kAEREE)
10:15 68 80.0 17.28 | =| 1Ri%e10:15 Bz (RBEREE)
11:00 68 80.0 17.28 | =| 1Ri%e11:00 B3h (RAHEESE)
11:40 68 80.0 17.28 (& =| 1BRige11:40 Bzh (REERESE)
12:30 68 80.0 17.28 | =| 1Ri%e12:30 Bz (GkBEREE)
13:15 68 80.0 17.28 FA| {Ri%e@13:15 Bz (GRAEEE)
13:55 68 80.0 17.28 FA| 1BRi%@13:55 B3h (KRAHERSE)
14:35 68 80.0 17.28 FH| 1Ri&@14:35 Bzh (GRAEREE)
15:15 68 80.0 17.28 | =| 1Ri%e15:15 Bzh (GRBHERESE)
15:55 68 80.0 17.28 | =| 1Ri%@15:55 Bzh (RAHERESE)
2it]816.0 (12)%) 960. 0 32 KEC: 1800.0, PH: 6.0

EREBRIE LT (0.61 vs 0.68), FAIEER % MAEENEFEEEIKERE

LOREBRTC R IR RN (68 vs 131.0))

BRIASERRIERE41. 0 ml.

RERJERIPH (10.33) H5iEPH (6.0) REK K, HFRE
BEXEBIPH (10.33) 5FMPH (6.5) REK K, HRE
[E]/&REC 3814.0 K&, EiNF{RKECAE&HEER
#HERECE (1992.0 vs 3814.0) 35
LRGEBIPH (10.2) 5i&8FE (6.0) REKK, BFRE.
LORGEBIPH (10.2) S5#REE (6.0) REHK K, HRE.




G3-1_0, Day=15 (2025-05-27)

B0 F———————————m—m———— e — e —————mmm—m———mm————mmmm—m——mmm——mmm———m——m—————m =]

60

40

20 A

VI, V0, FRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET

260

0

2

I Warning: lcol [FVI',| "FVO’'] missing

849

(=2}
o
(PN

I
o
1

N
o
1

FRV (ml plant-1)

Vi
FRV

maxM

—_
o

0.6

0.4+

0.2~

Warning: lcol ["WC1',  "WC2'] missing

2908 1

2100
2000

1900 ~

1800 === === m——m m e e e m e mm i mm e

TargetEC=1800. 0, | TargetSetEC=1800. 0

X

X

Xe

®X

ECB*10%
[ ECC

10 A

X

X

X

SN
7N

S
7N

X

X

PHB*10%
J PHC

150 4

100 A

50 -

ET (ml/hr/plant)

- 1000

- 500

0

1

2
2

2
3

4

6

10

11

14

15

16

17

19

20

21 22 23

150

%=

ER

%=

i

[

[

E3
B

ES
5]

E3
B

ES
5]

=
B

E3
B

ES
5]

=
B

E3 E3 ES
B B 5]

100 A

50 -

ET (ml/hr/plant)

ByEt @15 19:07: ET=452 Fg=360.0 Ro=nan

- 1000

- 500

0

3

4

6

7

12

13

14

15

21 22 23

150

%=

1
XS

%=

%=

%=

%=

%=

ER

%=

A

FA

%=

E3 E3 ES
B B 5]

100 A

a1
o
1

ET (ml/hr/plant)

1.0 A

ByWoFv @D19 05:23: ET=652

Fg=960. 0 Ro=345.0

- 1000

- 500

0.8

0.6

0.4+

0.2~

—_—
o | _obs
—@— PPFD obs

o VPD

cumET (ml/plant)

cumET (ml/plant)

cumET (ml/plant)



m=360, FV0=0 m=430, FV0=0 m=540, FV0=0

—e— ME —e— ME 24 —o— ME
241 19 24 1
23
22 4 29
18 | 22 1
20 21
17 20 7 a
18 - 19
—o— ME
16 - 16 - - 18 - 18 -
T T T T T T T T T T T T T
400 600 800 1000 360 365 370 430 435 440 540 545 550
m=645,m FV0=0 m=730,m FV0=0 m=805,m FV0=0 m=860,m FV0=0
23 22 5
—— ME —o— ME 29 —— ME | 22.0- —— ME
22 4 21 4
21 1 21.5 -
21 90
20 1 21.0 -
20 0
19 20.5
19 -
18 18
18- 20.0
17 17
17 ] T T T T T T T T T 19 5 L T T T
645 650 655 730 735 740 805 810 815 860 865 870
m=915,m FV0=0 m=1000m FVO=0 m m=360,m FV0=0
23 29.0
—— ME 29 —— ME —o— MW
22
21 7 28.8 -
21
20
20 28.6
19
19 i
18 - 28.4
18 -
17 1 28.2
915 920 925 1000 1005 1010 400 600 800 1000 360 365 370
m=430,m FV0=0 m=540,m FV0=0 m=645,m FV0=0 m=730,m FV0=0
—o— mw | 3927 —o— muw | 24 —-— MW —— MW
30. 0 1 28. 4 -
30. 0 A 29 9 4
29.8 28 2
29.6
29.6 28.0
29. 4 - 28.8 1
29. 4
29.2 4 28.6 A 2781
29.2
29.0 28. 4 - 27.6
29.0
430 435 440 540 545 550 645 650 655 730 735 740



m=805, FV0=0
28.0 - MW
27. 8
27.6
27. 4 -
27.2 -
T T T
805 810 815

m=860, FV0=0
28.0 A - MW
27.9 -
27.8 A
27.7 A
27.6
T T T
860 865 870

m=915, FV0=0

28.0

27. 8

27.6 -

27. 4 -

27. 2 -

27.0

—O—

M_W

915

T
920

T
925

m=1000, FVO=0

27.6 - MW
27.4 4
27.2 -
27.0 A
26. 8 -
T T T
1000 1005 1010




